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MNU 4-03a        Assessment 3          Silver Level 

Name:   _________________ 

Class:   ________ 

Score: ____ 

4 
Percentage: % 

Outcome 1 - Problems in Context Outcome 2 - Long Multiplication 

Tom is climbing a 27·5 metre  
climbing wall. He completes  
the first stage by climbing  
6·8 metres. He then completes the second  
stage by climbing 9·53 metres. How much  
further does he still have to climb? 

Neil is going on a 70 mile cycle at the  
weekend. He cycled 34·94 miles before  
he Stopped for a short break. He then  
cycled a further 18·683 miles. How much  
further does he still have to cycle? 

49  63 

442  26 

Outcome 3 - Long Division 

Choose your strategy for the following  
questions…then solve the problem! 

Work out the answer to the following… 

Work out the answer to the following… 
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